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25. Amer chooses four of the numbers 2, 3, 4, 5 and 6 and writes one in each
box so that the calculation is correct. How many of the five numbers could
amer write in the shaded box?
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26. The numbers 3, 4, 5, 6 and 7 are to be placed in the five circles below so
that the number inside each triangle is the product of the three numbers
on its vertices. What is the sum of the three numbers on the vertices of
the coloured triangle?
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27. Which of the following nets CaNNOT be folded into the solid éé@ ?
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28. The four villages A, B, C and D lie along a road in that order. The distance
between neighbouring villages is 10 km. There are 10 students who live
In village A, 20 students who live in village B, 30 students who live in
village C and 40 students who live in village D. The villagers want to build
a school so that the total distance travelled by the students when going to
school is as small as possible. Where should they build the school?
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29. The three pictures show a structure made from cubes as seen from the
top, from the front and from the right. What is the maximum number of
cubes that could have been used to build the structure?
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30. 30 people are sitting round a circular table. Some of them are wearing a
hat. Those who do wear a hat always tell the truth while those who do not
wear a hat can either lie or tell the truth. Each person says “At least one
of my two neighbours is not wearing a hat.” What is the largest humber of
people who could be wearing a hat?
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